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Question Id : 3421237087 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the mumber of viewers of four different TV channels, namely, JIO,
ZEE, SONY and COLORS in six different cities A-F, along with the ratio male (M) to females
(F) among them. Based on the data in the tables, answer the questions that follow:

City-wise Details of Viewers

Viewers of TV Channel
City 10 ZEE SONY | COLORS
Total | M:F | Total | MCF [ Total [M:F | Total | M:F
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Sub questions

Question Number : 1 Question Id : 3421237088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of female viewers of Zee TV taking all six cities together?

1. 1242

]

. 1262
3. 1282

4. 1302

Question Number : 2 Question Id : 3421237089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The total number of female viewers of COLORS TV from city C is approximately % of
the total number of female viewers of JIO from city A.

1.82
2. 88
3.96

4. 108

Question Number : 3 Question Id : 3421237090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average number of male viewers of SONY TV from all the six cities together is
approximately % of the six cities of viewers of JIO TV from city D.

1. 30

Question Number : 4 Question Id : 3421237091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of male viewers of ZEE TV from city C is approximately % more than
the number of female viewers of SONY TV from city F?

1.124
2.15.2
3.173
4.18.6

Question Number : 5 Question Id : 3421237092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the difference between the total number of male viewers and female viewers of ZEE TV
from all six cities?

1.710
2.704
3.706

4.708

Question Id : 3421237087 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 3421237088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1242
2. 1262
3.1282
4. 1302

Question Number : 2 Question Id : 3421237089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 82

3.96

4. 108

Question Number : 3 Question Id : 3421237090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 4 Question Id : 3421237091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



X ¢ ol Al o Uy aui! @I GO IR F U i & 6l @l Aige aXiel 3 gen g
GEIET L — % YD g

1.124
2.152
3,115

4.18.6

Question Number : 5 Question Id : 3421237092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2.704
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Sub-Section Number : 2
Sub-Section Id : 342123283
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421237093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Terms Meaning
A Declm‘at_n‘e I. | The retention of information about the where and when of life's happenings
Memory
B. el Il | Astudent's general knowledge about the world
Memory G 2

The conscious recollection of information such as specific facts or events

. |Benchs Memory: | 1 that can be verbally communicated

D. |Semantic Memory | IV. [Knowledge in the form of skills and cognitive operations

Choose the eorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. AL B-IV, C-1, D-II
3. A-IL, B-IIT, C-IV, D-1
4. AL B-IL C-IIL, D-IV

Question Number : 6 Question Id : 3421237093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IV, B-IIL, C-II, D-1I
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-L B-II, CII1, D-IV

Question Number : 7 Question Id : 3421237094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Use of learning strategies and tactics reflects:

1. Intellectual Humility

[

. Overlearning
3. Rote laerning

4. Meta cognitive knowledge

Question Number : 7 Question Id : 3421237094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421237095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Swayamprabha DTH Channel No Channel Name
A | Channel - 03 I. |VIDHIK
B. |Channel - 06 II. JARYABHATT
C. | Channel - 07 III. [EAUTILIYA
D. |Channel - 08 IV. |PRABANDHAN

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I

(]

. A-III, B-I1, C-IV, D-1
3. A-1IV, B-1, C-1II, D-11

4. A-IV, B-1II, C-II, D-I

Question Number : 8 Question Id : 3421237095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-IV, C-111, D-1

[

. A-IIL B-11, C-1IV, D-1

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-111, C-1II, D-I

Question Number : 9 Question Id : 3421237096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the explanations of Pedagogical Teacher's Dilemmas of
constructivism in practice?

A. Developing deeper knowledge of subject matter

B. Managing new ideas of discourse and collaborative work in the classroom

C. Honoring students attempt to think for themselves which remaining faithful to the accepted
disciplinary ideas

D. Mastering the art of facilitation

E. Confronting issues of accountability with various stakeholders in the school community

Choose the correct answer from the options given below:

I.A, B,CandD only
2.D, and E only
3.A,Band C only

4.B.Cand E only



Question Number : 9 Question Id : 3421237096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 3421237097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physics instructor needs to create International videos demonstrating Newton's law of motion.
Which tool should the instructor use to record, edit and share these videos with students.

L. Flipgrid
2. Camtasia

3. Padlet

4. Google forms

Question Number : 10 Question Id : 3421237097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421237098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research designs would allow systematic elimination of extraneous
varlables other than those you are interested in?

. Longitudinal research
2. Qualitative research
3. Correlational research

4. Experimental research

Question Number : 11 Question Id : 3421237098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421237099 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which among the following research designs are likely to suffer from the problem of sample
attrition?

A. Cross-sectional studies
B. Longitudinal studies
C. Panel studies

D. Cohort studies

Choose the correct answer from the options given below:

I. Aand B only
2.A,Band D only
3.A, Cand D only

4.B, Cand D only

Question Number : 12 Question Id : 3421237099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 3421237100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the characteristic like age, sex or race of the researcher affect the behaviour of a
participants in a study, it refers to

1. Biosocial effect
2. Psychological effect
3. Hawthorn effect

4. Evaluation apprehension

Question Number : 13 Question Id : 3421237100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421237101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the ordinal variables.

A. Rank of army personnel
B. Religion

C. Caste

D. Annovance level

E. Temperature in Celsius

Choose the correct answer from the options given below:

1. A, B, CandD only

(]

. B and C only
3. A, and D only

4. D and E only

Question Number : 14 Question Id : 3421237101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421237102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a situation where a researcher wants to test whether the population mean is lower than some
hypothesized value, the researcher would employ-

1. Z- tailed test
2. Left tailed test
3. Right tailed test

4. F- test

Question Number : 15 Question Id : 3421237102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 3421237103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The semiotic study of Charles Pierce is in its approach:
1. Experimental

2. Historical

[

. Quasi legal

4. Quasi- scientific

Question Number : 16 Question Id : 3421237103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421237104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of explanatory journalism attempts to answer more-

1. “Why’ questions

[

. “Where’ questions

(5]

. “Which’ questions

4. *Who’ questions

Question Number : 17 Question Id : 3421237104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421237105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are statements made by scholars in relation to media-audience equations?

A. New media are natural and social

B. People are polite to well-designed computer

C. The relationship between communication gadgets and people is passive
D. The new media technology has created a kind of techno-spirit

E. The techno-media environment is an ideal environment

Choose the correct answer from the options given below:
1.A,D,Eonly
2.C, D, E onlyu
3.B,.C,E only

4.A,B,C,Donly

Question Number : 18 Question Id : 3421237105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421237106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following inventions related to communication:

A. Cable television
B. Telegraph

C. Telephone
D.MP3

E. Phonograph

Choose the correct answer from the options given below:
I.A,C.D.B.E
2.B,C,E,A,D
3.C.AB.D.E

4 EACBD

Question Number : 19 Question Id : 3421237106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. E.ACBD

Question Number : 20 Question Id : 3421237107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept Description
Disinformation [. |International suppression of contradictory ideas

Black propaganda | II. | Transmission of information may be or may not be false

White propaganda | III. |False information about the opposition

ola|w|s

Gray propaganda | IV, |Strategic transmission of lies

Choose the correct answer from the options given below:

1. A-L, B-IL, C-1IL, D-IV
2. A-11, B-II, C-IV, D-1
3. A-IIL B-1V, C-1, D-I

4. A-IV, B-1, C-I1, D-III

Question Number : 20 Question Id : 3421237107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-I1, D-IV
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2. A-11, B-III, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-11, D-III

Question Number : 21 Question Id : 3421237108 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In an examination a student scores 4 marks for every correct answer and loses | mark for every
wrong answer. A student attempted all the 200 questions and scores 400 marks. The number of
questions he answered correctly was:

1. 60
2.100
3.120
4.150

Question Number : 21 Question Id : 3421237108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 60

2. 100
3.120
4. 150

Question Number : 22 Question Id : 3421237109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs 235 results in a discount of 6% on the marked price of an item, at what
price should the item be sold to offer a discount of 15%?

1.Rs 199.5
2.Rs206.5
3.Rs212.5

4.Rs 215

Question Number : 22 Question Id : 3421237109 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1.199.5 7Y
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Question Number : 23 Question Id : 3421237110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One term in the number series is wrong. Find out the wrong term?
325, 259, 202, 160, 127, 105, 94

1. 94

[
[ —
2
-1

Question Number : 23 Question Id : 3421237110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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325, 259, 202, 160, 127, 105, 94

1. 94

[

127

3202

Question Number : 24 Question Id : 3421237111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *FLOUT’ is coded as *IIRRW”, then the word *CLING’
will be coded as:

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 24 Question Id : 3421237111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 25 Question Id : 3421237112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 Pumps, working 12 hours a day, can empty a tank in 15 days. How many hours a day must 8
pumps operate to empty the tank in, days.

1. 13 hours
2. 14 hours
3. 15 hours

4. 16 hours

Question Number : 25 Question Id : 3421237112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421237113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"No one has ever been able to prove that psychic powers do not exists. Therefore it is proved that
psychic powers do exist. Identify the fallacy in the above arguments.

1. Appeal to ignorance
2. Hasty generalization
3. Slippery slope
4. Equivocation

Question Number : 26 Question Id : 3421237113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421237114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two propositions are contradictory if

A. They cannot both be true

B. Of the pair, exactly one is true and exactly one is false
C. They can both be false

D. They cannot both be false

Choose the correct answer from the options given below:

1. Aand C only

[

. A, B and C only
3. B only
4. A. B and D only

Question Number : 27 Question Id : 3421237114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421237115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-intelligent animals are non-apes

B. Some apes are not intelligent animals

C. Some apes are non - intelligent animals

D. Some non - intelligent animals are not non-apes

Choose the correct answer from the options given below:

1. A, B and C only

[

. A and C only

(5]

.Aand D only
4. B. C and D only

Question Number : 28 Question Id : 3421237115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421237116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is arranged in the order of decreasing extension?

1. Mathematics, arithmetic. numbers, prime numbers
2. Prime numbers, numbers, arithmetic. Mathematics
3. Arithmetic, mathematics, numbers, prime numbers

4. Numbers, prime numbers, arithmetic, mathematics

Question Number : 29 Question Id : 3421237116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 3421237117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the arguments is fallacious because the middle term is pervaded by the absence of the
major term instead of ifs presence:

1. The hill has fire because it is knowable
2. Sound is eternal because it 1s produced
3. Sound s eternal because it 1s audible

4. Sound is quality because it is visible

Question Number : 30 Question Id : 3421237117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421237118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Web 2.0°, a second generation of the Internet, can best be described as:

. A software package developed by Microsoft and available at a discount to teachers

2. An approach to the Internet in which users can share thoughts, opinions and ideas in a free
and open forum such as blogs, wikis and podcasts

3. An approach to the Internet in which websites and apps can process information in a smart
human-like way through technologies like Machine Learning, Big Data, Decentralized

Ledger Technology, etc

4. Faster Internet for big business

Question Number : 31 Question Id : 3421237118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421237119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Each webpage is assigned a (n) , an address that identifies the location of the page on the
Internet.

. Internet Protocol (IP)
2. Uniform Resource Locator (URL)
3. Top-Level Domain (TLD)

4. Hyper Text Transfer Protocol (HTTP)

Question Number : 32 Question Id : 3421237119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421237120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(File Extension) (File Type)
A | dox I. |Lage file
B. |.ipe II. |Video file
C. |.mp3 IIT. | MS-WOED file
D. |.mov IV. | Audio file

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

3

. A-IIL B-1, C-1IV, D-1I

sl

. A-IV, B-1, C-III, D-II

4. A-III, B-IV, C-1, D-1I

Question Number : 33 Question Id : 3421237120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1D 1Y Gt 11 T e Sifse

el 1 GEIRl
CIEG (BTEd CITY)
A | dox I @ﬁ{%ﬂﬁh Bigd
B. |.ipe 1. |difsa wEa
C. | .mp3 1. | MS-WORD HIga
D. | mov IV. | 3o {m g
i feu U fadm el O et SR &l 999 BT
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. A-IILL B-1, C-1IV, D-1I

el

. A-TV, B-1. C-III, D-IT

4. A-II1, B-IV, C-I, D-1I



Question Number : 34 Question Id : 3421237121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference to cybersecurity?

A. Incident response in cyber security involves identifying vulnerabilities and patching them

before an attack occurs
B. CERT-In acts as an early warning system for cyber threats and attacks in India

C. ‘Tor’ is an acronym for “The Onion Router’. which is a web browser that enables people to
communicate anonymously online to prevent bad actors from tracking their Internet activity
D. Using a Virtual Personal Network can help secure a network by encrypting the data

transmitted over it

Choose the correct answer from the options given below:
[. Aand D only
2. Aand C only
3.Band D only

4.Band C only

Question Number : 34 Question Id : 3421237121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421237122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system then identify the correct ascending order

of the following numbers A-D when converted to decimal number system

Choose the correct answer from the options given below:
.D,B,C.A
2.B,D,C,A
3.AB.C,D

4.D,B,A,C



Question Number : 35 Question Id : 3421237122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SYR-M G YUITel! H, (L), ST L 1 &Ifal 8, ol % Ueaff A-D 1 GYmeid G
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A. (203),
B. (100001),
C. (114);

D. (1012);

Choose the correct answer from the options given below:

1.D,B,C,A
2.B,D,C,A
3.4BCD

4.D,B,A,C

Question Number : 36 Question Id : 3421237123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Radioactivity in drinking water can be caused due to pressure of naturally or anthropogenically
occurring radionuclides. Which one of the following is a naturally occurring radionuclides with a
possibility to contaminate drinking water?

. Uranium

2. Plutonium

3. Radon

4. Strontrum

Question Number : 36 Question Id : 3421237123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e T AT 0T ¥ S g aTel ol ferad bl Hiofgl o Ryl U ot W
e it Iar g1 Webl ¢ T H | - 91 Wigiie o0 9 gi arell Aisugfdkisy
g foR U ofef o WG g+ o AT Bidl @

Question Number : 37 Question Id : 3421237124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not released during an earthquake?
1. P - Wave
2. Q - Wave
3.5 - Wave

4. Love Wave

Question Number : 37 Question Id : 3421237124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU & R FAfRId T i Tt av1 gl S gl § 2
1. Gl- 99 (P- Wave)
2. F.- dd (Q- Wave)
3. UY-dd (S- Wave)
4. 9999 (Love Wave)

Question Number : 38 Question Id : 3421237125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is used to measure and monitor air pollution?

1. RADAR

[-2

. SONAR
3. LIDAR

4. SODAR

Question Number : 38 Question Id : 3421237125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T VG 1 AU 3R AR S o fere e & 9 fdwer T fobar o g2
1. V3R (RADAR)
2. ¥R (SONAR)
3. IR (LIDAR)

4. TSR (SODAR)

Question Number : 39 Question Id : 3421237126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In nuclear reactors, ‘moderators’ are substances.

A. That slows down neutron

B. That limits the chain reaction

C. That helps to sustain the chain reaction

D. Without which chain reaction in most nuclear reactors would stop
E. Such as heavy water or D,O

Choose the correct answer from the options given below:

1.A,B.CandD only

I3

A, C,DandE only

[N

.B. C and D only

4. A.B and E only



Question Number : 39 Question Id : 3421237126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421237127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the level Carbon dioxide (CO,) during pre-industrial era?
1. 200 ppm
2. 280 ppm
3. 350 ppm

4. 420 ppm

Question Number : 40 Question Id : 3421237127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 200 ppm

(]

. 280 ppm
3. 350 ppm
4. 420 ppm

Question Number : 41 Question Id : 3421237128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient grammarian Panini was a student at which of the following ancient places of
learning?

1. Takshashila
2. Nalanda

3. Sridhanya Katak

4. Odantapuri

Question Number : 41 Question Id : 3421237128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421237129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the major recommendations of the National Education Policy, 2020, is the establishment
of for restructuring higher education in India.

. Science universities
2. Autonomous colleges
3. Technology clubs

4, Higher Education Institutions clusters

Question Number : 42 Question Id : 3421237129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421237130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major initiatives of the union government during the XI plan in the higher education sector
were:

A. Establishment of 14 world class universities
B. Diversion of funds to private universities better performance

C. Strengthening of science based higher education and research in universities
D. Restructuring of different councils

E. Financially supporting uncovered state universities and colleges
Choose the correct answer from the options given below:

[.A,B, Conly
2.A,C,Eonly
3.B.C.Donly

4.D, E only

Question Number : 43 Question Id : 3421237130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421237131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are public sector funding agencies for research in India?

A. TATA Trust
B. ICAR
C.ICHR
D. ICMR
E. Population Foundation of India (PFT)
Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.D.E only

4. A, C,E only

Question Number : 44 Question Id : 3421237131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421237132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forerunner college University

Muir Central College| I. |Lucknow University

Oriental College II. |Allahabad University

University College 1. | Aligarh University

olo|w|»

Canning College IV. |Panjab University

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

. A-II, B-1II, C-1IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4. A-IV, B-1. C-II, D-ITI

Question Number : 45 Question Id : 3421237132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-1II, D-III

Sub-Section Number : 3
Sub-Section Id : 342123284
Question Shuffling Allowed : No



Question Id : 3421237133 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

The Andaman and Nicobar Islands sitwated between 6° and 14° latitudes and 92° and 94
longitudes in the Bay of Bengal have been inhabited for thousands of years going back to the
Middle Palaeolithic age. Through the vast majority of this time the inhabitants of these islands
maintained their separated existence diversifying into distinct linguistic, cultural and territorial
groups. In the mid-nineteenth century CE, for the first time they came into sustained contact with
the outside world. Today, they are mainly consisted of the Great Andamanese tribes like the
Jarawa, the Onge and the Sentinelese and the Nicobarese consisting of the great Nicobarese and
the Shompens. Host to the tropical climate nourished by both the south-west and the north-east
monsoons, the Union Territory is at present divided into three revenue districts with Port Blair as
its capital.

Andaman and Nicobar Islands dwellers have migrated and settled down from various parts of
India and Burma as well. The culture of Andaman and Nicobar Islands is distinct and unique and
comprises mainly two types of inhabitants-Indians and Natives. The former are mainly from the
Indian Mainland especially from areas like Punjab, West Bengal, Tamil Nadu, Myanmar and Sri
Lanka. The Natives are what makes Andaman and Nicobar Islands different from other parts of
the country. They are the main reason why these islands have a wild aura about them.

Sub questions

Question Number : 46 Question Id : 3421237134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communities has connection with the Andaman and Nicobar Islands?

1. Khasi
2. Santhal
3. Bodo

4. Jarawa

Question Number : 47 Question Id : 3421237135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following does not help the inhabitants to continue their distinctive identity in
Andaman and Nicobar Islands?

. Linguistic aspect
2. Cultural aspect

3. Territorial aspect
4. Nutritional aspect

Question Number : 48 Question Id : 3421237136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of people of Andaman and Nicobar islands have migrated from
Indian mainland, Myanmar and Sri Lanka?

I Indians

2. Natives
3. Nagas

4, Marwaris

Question Number : 49 Question Id : 3421237137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andaman and Nicobar Islands

1. 1s a cluster of small beatiful countries
2. 1s a cluster of several beautiful islands

3. is a cluster of few villages

4. 15 cluster of deserts

Question Number : 50 Question Id : 3421237138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Port Blair is a part of:

|. Kerala
2. Andhra Prasedh

3. Sri Lanka

4. Andaman and Nicobar Islands

Question Id : 3421237133 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421237134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421237135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421237136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421237137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421237138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIE &R 9§ ¥ fagat Y g2
1. B

ATy UG

3. 4icidpl

[

3{SHM 9 FMIaR 21U THg

I

Oriya
Section Id : 34212397
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123285
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421237139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421237139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘CIRST PRINECILER 699 QUGN 6087

1. m&¢ll

[

. Btllel 21096

3.¢llg]
4, ISR

Question Number : 59 Question Id : 3421237147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"G 699U el RlRel
Q0e1 04 668
960 BIRgR 67 SRR
ARIG-6AIR1-99" - 639 FIUQ FFRITALER YEIR Qoa%s! 0§ PRI 651699 2085
1. 8ga1
2, 481
3. Yéleh Rl
4. Q19998

Question Number : 59 Question Id : 3421237147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"R 6590419 04 GIRRIS

QI0G1 96 549

Q6 BIAGR 95 79719

ARIF-6SIR1-506" - 6364 QISIR ARRIFAEER IRER JRI0GI 45 FITFRIR 67689 A5RE?

1. GEdat

2. 481

3. Yol @Rl
4. Q1009

Question Number : 60 Question Id : 3421237148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AREFRS FRNNaE ‘Qghal 9961 926D 6496 JEISIR 2581 QIS ARG

1. 9QGEIEIST 956!
2. A6ARIGIRS 618
3. 6819618

4. 91121 58|

Question Number : 60 Question Id : 3421237148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARGANER AGRIAT ‘Qhl @RI L6 699 alo @56l 416 JIn&?

. 9QuEIIGT 956!
2. A6UIREIRT 618
3. 651R6I1S

4. 9l ASC|

Question Number : 61 Question Id : 3421237149 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

699 G52 6RsIa 6deI0Qe IHEE g°9” IBRIR d86KI5N IF9R 2J6m?
1. 919898 il
2. AlRG1 996 AIFFIET
3. 2961 S QU
4. €09 1LICNIG

Question Number : 61 Question Id : 3421237149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

649 652 6MEIR 69CoeT IHGE “8°9” IBRIR 99645 IEQq 2J6m?
. 99998 Fsila1
2. AlRL1 996 AIGFIET
3. 296! @9 gk
4. 9099 (81218

Question Number : 62 Question Id : 3421237150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ag6lg B 2YAQ YFR QERY 6% AAGUILED AER?

1. QMU

2. @QI9a1

(8]

. 9t

e

. @161y

Question Number : 62 Question Id : 3421237150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR6lG B 27AQ YIFR QERY 699 AAGUILED AER?
L. SIRIGI

2. @QI9a1

(el

g tlimi

4

. 1691y

Question Number : 63 Question Id : 3421237151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6995 65U Qlga 2t asal?
1. 5e9e
2. §dIg
3. QQIGQT
4. G998

Question Number : 63 Question Id : 3421237151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

699G 639 QIaa 298 ol
1. §ede
2. Gedlg
3. QQIGQT
4. 5998

Question Number : 64 Question Id : 3421237152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@2IPQEL OlF °ARAT QLA A2

1. QRG] A9

[

9Q6HIsIn o
3. QQuaey ISiglET
4. 6¢1INQ AW QEE

Question Number : 64 Question Id : 3421237152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@2PQEL ol °AnaT QILIR A2

1. QRIGY T4

[

. 046001 0%
3. @QUY°w dISIgET
4. 6£ME 2Qm QLE]

Question Number : 65 Question Id : 3421237153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

8GN dIPeE QTG 696 QUYL G191 69088 “RYT?

==

Q2041

(o

 RIR16SIE
3. QRIRRE
4. AQWEISIE

Question Number : 65 Question Id : 3421237153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



eIl ePT ATC 666 QUGUILN GG 69088 “RYT?

—a

Q2941

[

. RIR631g
3. QERIORE
4. DREIEIE

Question Number : 66 Question Id : 3421237154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘H1 UG 69 & D191 RIS VLR ALG| @2

. @mAo6LY

[

 AFQIGE BRI6TS
3. R919g @°
4. S1599E QU

Question Number : 66 Question Id : 3421237154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘1 QAUETE 699" & DG 2ARIKG PR A @92

1. @mA0LLYS

[

 AFQIAE GRIR6RR
3. K999 °g
4. SFQEE AL,

Question Number : 67 Question Id : 3421237155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘DGR Q 9Bl W6 6%‘@@66“‘6]1& @R gusl aUIN?

—a

. 699N

[

3. 99. RIS

N@ol ditsed

(el

4.999Y. §. 9999

Question Number : 67 Question Id : 3421237155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘DEALR D Il QU6 6%‘@@66‘“?]1& aQT gasl aqUdI?

—

. 6969

[

.99, QRelg

N@W%l ditwel

(5]

4.999M. §. 999

Question Number : 68 Question Id : 3421237156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6900 Q19 fga A9eI98?

1. sl

[

6919FI9Y
3. @RLsl
4. 390 99@

Question Number : 68 Question Id : 3421237156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6Q60 19 T A9el9g?

. dtlie9ld

—a

[

. 691%91RY

gaaLal

(el

4. 069 A9

Question Number : 69 Question Id : 3421237157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

646 9521585 F1LINne” q 2RIA % AGE?

1. 5EaQ1

[

 ARgE
3. 6RIEQ
4.G°4

Question Number : 69 Question Id : 3421237157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

690 2a01920 (LIRne” q 2RI 9% 20S?

1. 92091

[

 9RgNE
3. 6IEQ
4.9°¢

Question Number : 70 Question Id : 3421237158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



69 A6RR 2961 9aT QILIo?

—a

. 64IQg Q194G

[

. QUERE @65l ddl
3. 64lRIglY QIR &g
4. 696D ol

Question Number : 70 Question Id : 3421237158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hl6T 2A6RR 2961 LaT QI

—

. 64IQg QG

[

. QUERE F6ElIR Al
3. 64U QLI g
4. 69'¢RI BllW%

Question Number : 71 Question Id : 3421237159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EEAUCNAR 49 RILIQ A7

—=

o {alallaa

[

651N 62€1RIS T4
3. 992 eI sledel
4. C1IEIE Q1REIE Qg

Question Number : 71 Question Id : 3421237159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“JE6UNIER” 49 RILIR AF1?

—a

 PEAUTR

[

6510 6291518 T4

(el

. Q4% q¢liol cledel
4. A19IIL MR8 i

Question Number : 72 Question Id : 3421237160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-Z6RIF 6 2IFLD FILIEN” 686 AR 6MEI?

—

. C168¢0 F1918

[

. £16%1% @I
3. RYURI2 Ao
4. Q&G QI

Question Number : 72 Question Id : 3421237160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-Z6MIG 6 AFLR AL 656 6RSGT 6MEI?

—=

. fleaqg F1918

[

. £16%1% WIe
3. RYURI2 ¥
4. 0Q9EG QI

Question Number : 73 Question Id : 3421237161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Q9o Bl xxx 9 Introspective Novel ql ?JI‘F]‘I:}”HIE](EIW QUYL - 991 QIFIR Q&?

. 1919 §AI9 F1918
2. QIR @689 A8
3. 69lIIR 9F Fig

4. 9018 9910

Question Number : 73 Question Id : 3421237161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o9l Bl xxx @ Introspective Novel al ?JI‘E]‘EI“HIEJ(EIW QUYL - 991 QILIR Q&

. 919 §AI9 F1918
2. Qe @659 Fg]
3. 65lglln g €I
4. €018 Y9 RIaR

Question Number : 74 Question Id : 3421237162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cl6GIR QIYe U098 69109 Q8L 6 AYSIRE B A0’ 0960 w'é FINE! 28
. 25996 (TIeE)
2. 2IER2E 681
3. Q419610 558
4.91d 99

Question Number : 74 Question Id : 3421237162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



€16Q1% Qe 29 69109 9dY 6 AgYeIes o 60 FF69 7'6l AFIRE! AR
1. Agal (TIeNd)
2. AERAR 68t
3. AR 698

4,16 9%

Question Number : 75 Question Id : 3421237163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

78 996 626LAUT ‘97 6 956° L° R J6Y ALY 606 QU960 9156 689 |
L. 9l
2. deliomIoE!
3. Q490!
4. @199

Question Number : 75 Question Id : 3421237163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

98 00l 6968 ‘97 6 906" ARG F6Y LEGYD 656 FRIF6R IR 699 |
L. ol
2. deliomio G
3. Qliae4l
4. @199

Question Number : 76 Question Id : 3421237164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"QIAR1L §RR1FIN ARG Snda Q1d 9e8a ensia @a?

—a

. d161@ls (1eldlY

[

QY QR4 Qld
3. QO9 991
4. F918 6E19Q 1918

Question Number : 76 Question Id : 3421237164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"QIAR1IL §RRIRIN L@ a1da 1 geaa enslia o

—

. d161@ls (1LldlY

[

QY @84 QId
3. P99 ATRIee
4. Q19 69199 F1918

Question Number : 77 Question Id : 3421237165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QLI Y6 AEGY ‘REAICKL2N ARIAG?

1. 69I9% Qi<

[

. £1691% Qe

[

 GBRLIN QI

4. g[19U¢19Y Qlsl

Question Number : 77 Question Id : 3421237165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@lLI Q16 ERY ‘REAICR L2 2RING?

1. 69119% Q14

o]

. £1691% @I

Lad

 GBRDIDN Q14
4. §191€19G QU4

Question Number : 78 Question Id : 3421237166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@Q°d d19laNa dIEeY 920 A0RG! @2

1. 5@ Qe QI

[

. Dl 9'0l6l Q14
3. 6QIM 6919 SlIg1
4. Q19 R6IR Q19

Question Number : 78 Question Id : 3421237166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“4aQ°4 FIPIR1 DIEQY JER QGHEG! @2

1. 0@ Q&G QId

[

. Dl 9'0l6l Q14

691 6QIRQ SIg!

]

4. 919 R64IR QI

Question Number : 79 Question Id : 3421237167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



696 322 QPR 659UAUND ‘The Tempest’ FITAR BIAIECH MGYE?

1. 99w

I3

. 6LITla
3. ¢1ge
4. QIS RIS

Question Number : 79 Question Id : 3421237167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

696 352 Q19w 6519U2IQG “The Tempest” RITRD BIAIEH MGE?

1. 999w

-3

A%
3. ¢lgq
4. QI8 9WI9s

Question Number : 80 Question Id : 3421237168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

09 9@ QI9agee AU 696 §10962 "AYMLT YR AAa6al 90l R6RIRT
AQUIRER?

1. QB¢
2. 2198
3. 2QEI6N

1.04Ig41

Question Number : 80 Question Id : 3421237168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Q¢ 49Q QI9agLa g 656 G10962 ‘ALl G AA@6a 90l R6RIRT
AQUIRE?

L. Q@G
2. 2198
3. 84N

1.94Ig41

Question Number : 81 Question Id : 3421237169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRIGING1E FRGEIRED Qlellg<len agla alataia Jxalpgellalala) 99@%1@‘@ d9aee
6RIN&?

. I8 908

2. AREe 9y
3. 404610 96
4. €qeL gola

Question Number : 81 Question Id : 3421237169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRIGIR1E 9GNS QIElIGLIEn D1gIa0! alalalaFaalmfal/alala 9@@&@@ d995e
fLING?

1. 9 698
2. ARRS gy
3. 64019 98

1,906 Foa1



Question Number : 82 Question Id : 3421237170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6% QEFFIAT JNERIN IOHS QEPaE §6%?

—a

. Wolglel 29

[

. QQR 2N

(el

2991 2o
4. B BR4I 2NN

Question Number : 82 Question Id : 3421237170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

696 AGFEIHT AR ICHS AFEIS G642

—

. Waolglel 29

[

. QQR N

(5]

.29 NI

. @@ B4l 21NER

I

Question Number : 83 Question Id : 3421237171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6EYQ Q69 2g9IEq INBIQ 6968 dRIaQ?

—=

. dalol

[

.o galal

[

.29 49l

4. ¥ 919l

Question Number : 83 Question Id : 3421237171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6GYS Qg 2g9Iea dIdLS 6862 dalan?

—a

. dalal

[

. €0 gl

(el

. 29 499

4

. ¥ dal%l

Question Number : 84 Question Id : 3421237172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B6RI6I9 ZGTR G 684G

1. 653G
2. 69191

3. I
4. @IS

Question Number : 84 Question Id : 3421237172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B6RIGER AR NG 69GG?

1. 6996l
2. 6511

3. QISR
4. QIS

Question Number : 85 Question Id : 3421237173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



aella’ wmlel GE?Q‘TSEJ?HGEIIS‘G‘IQQQ Aatiee] de@i?

—a

. 4019 ©'4)

[

. €Ios 95a 69
3. 909 69
4. 280 QUG6R4 99

Question Number : 85 Question Id : 3421237173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aella’ wmlel 6‘&;‘@@9[6%6‘9@@9 ool de@l?

—

. 4°019'%91 ¢4

[

. €I0% 955 09
3. §6l0R 9Q
4. QR0 QUTETE 99

Question Number : 86 Question Id : 3421237174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A°QeGIRIen gees @?

—=

. 6oUdlle ey

[

ERIE Q 99

Q6P gIa9ld

]

4. N6m&' 641N

Question Number : 86 Question Id : 3421237174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A°QeGIRIe0 gees @2

—a

. 6olUdlle diage

[

eI § 99

V6P PIa9Ie

(el

4. J6mE 651N

Question Number : 87 Question Id : 3421237175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Q82169 6569 G 6 915 58 65696615 RIE6RE (Spheres of action) § QIGF 48
550 9085

1. 56919
2. 16

3. 4166

4.9¢9

Question Number : 87 Question Id : 3421237175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

092169 6060 AR 6 900G BR 93 6R661F IEIGA (Spheres ofaction) § HEAA Y
359 608

1. 56415

). €148

3,960

4. 929

Question Number : 88 Question Id : 3421237176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6415 U2l Q1 Solar mythology @ @\ ge'®I?

—a

€lIg gaIo

[

2Rl 91ae

IRl @S

(el

M 6919

4

Question Number : 88 Question Id : 3421237176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6419 U2l Q1 Solar mythology @ @\ ge'BI?

1. €Ig RN

[

2IRG 9199
3. €Il Q
4. @l 6919

Question Number : 89 Question Id : 3421237177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S0 AR 6920 d9e 99?

 SIREEQ IFIER

—a

o]

Q196

[

. Dlf169 Ryl 2lIla dItlehl

4. glalla'6ol

Question Number : 89 Question Id : 3421237177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FE1Q] A9 69R0 9% 99?

 S19CLQ AIIER

—a

o]

 2G19R69

. JIEleY el 2igls dIsies

Lad

4. glalla6ol

Question Number : 90 Question Id : 3421237178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e96N 65 JaIFIS “Folk Tales of Orissa’ 0 6msl@ @2

1. DPmllm 96L&l

[

6394981l 69
3. 69 &9

4. W6y @IoUEl ©Rgd

Question Number : 90 Question Id : 3421237178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

296 65 Y9IS% ‘Folk Tales of Orissa’ Ol 6meIa @2

1. QUPmllml 9'6kUIElL:

[

6394981l 69
3. 69 89
4. Q645 FI9I9E Qagd

Question Number : 91 Question Id : 3421237179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JERLE, AT, 919G, AIST Aggelen WU clytl diyinosl @9l |

Choose the correct answer from the options given below:
1.B,D,A,C
2.48,B. €. D
3.C,B.A,D

4.D,AC,B

Question Number : 91 Question Id : 3421237179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁf‘&f@ﬂﬂ, NG, QI@‘{L g199q AGT60 KUY cluol dYIaol6l a9l |
A @9
B. 2199l

C. La%
D. W&t

Choose the eorrect answer from the options given below:

LB D A2
2.4,B,C,D
3.C.BAD

1. DA, C.B

Question Number : 92 Question Id : 3421237180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Al AN Q1UYLRR ¢ AR 2R

A. 697 SRIGY

B. 6913 §916 e
C. €12J9U €IGPR

D. 59 52198

Choose the correct answer from the options given below:
LA C, DB
2.B,C,A,D
. DB

4.D,A,C,B

Question Number : 92 Question Id : 3421237180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JaqIR AN Q1YL @F GRS @

A. 695 SRIGY

B. 6917 5516 e
C. €12]9U €IGFR

D. 59 52198

Choose the correct answer from the options given below:

Lol 2 BB

[

.B.C.A.D
3.C.D.BA

2. DA CHB

Question Number : 93 Question Id : 3421237181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GORse 2941989 AeIgF6¢ ARIR 6T |

A. AEQIUCIGE BR4 2I9eg
B. QIS f6mId 2I661RG

C. ding §651Q

D. Qg edéa 21961

Choose the correct answer from the options given below:
1A B C.B
2B, A,C.D
3. D.BAC

4.C,A.B.D

Question Number : 93 Question Id : 3421237181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GORse 2941989 AeIgF6¢ ARIR 6T |

A. AEGINFIgs B4l 2IPEQ
B. QI8 F6mIC 2l6LIRE

C. JInG 96918

D. 297 odéa 2Ig6le

Choose the correct answer from the options given below:

1A B, C,B

(i

B, A G D

el

BBAC

4.C,A,B.D

Question Number : 94 Question Id : 3421237182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QIF1G1, SIRESI, §899 48° IARYNQ TI4 ARSI 958! 9] AU6AIS 415 2926
g618 6RS |

A. 91849161

B. 0197 gl

C. 99Ag9 26541
D. 89

Choose the correct answer from the options given below:

1.A,B,D,C
2.C,B,A,D
3.B,D,C.A
4.D,A,C,B

Question Number : 94 Question Id : 3421237182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QIFIG, SIRESL, §890 49° ARG TI4 ARSI A5RI 9] AU6AI9 9IS A6
g10 6a¢ |

A. 2649191

B. A% g%l

C. dEmER Q60!
D. 2945l

Choose the eorrect answer from the options given below:
[.LA,B,D.C
2.C,B.A,D
3.B.D,C.A
4.D,A,C,B

Question Number : 95 Question Id : 3421237183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QU6RE. FLUILE, MY, 0FIg- € ge8l PRGN FE169 §F QUYL LW |

A. qlR16%1Y

B. naame

C. S99 S8

D. @ﬂl@@

Choose the correct answer from the options given below:

.A,C,D.B

2.B.A,C,D

3.B,D,A,C

4 C,AD,.B

Question Number : 95 Question Id : 3421237183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QU6RE. FRUINS. M1, €0g- 98 ge6 0RedIee 97162 8¢ AUaUILgeq IR |

A. 7lR1691Y

B. n0ame

C. fI5Q £161d

D. QelIg®

Choose the correct answer from the options given below:

1.A,C,D,B

2.B,A,C,D

3.B.DAC

4. C,A,D,B

Question Number : 96 Question Id : 3421237184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ARIFQT 16, 48088 A6, 9412l 99 6 65I0IRSS IRAIR - I7 29860 77 4989Fe
g19 67

A. 268 62
B.9QR 995

C. 998

D. 9eq gfiedt

Choose the correct answer from the options given below:
1.A,C,D,B
2.B,D,C,A
3.C.ABD

4.D,B,A,C

Question Number : 96 Question Id : 3421237184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARIFQE U6, SERNE GI6, SRI2 99 6 65IAIRSE GRTIR - 4 AGRFI6A 7Y 4985RY
IR 6

A. 268 62
B. QR 993

C. 998

D. RE8q HFe

Choose the correct answer from the options given below:
I.A,C,D,B
ZB;D.CA
3.CABD
4.D,B,A C

Question Number : 97 Question Id : 3421237185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JaSIeaIR ARIAER QLIRS QIS Q6FI8 9061 A°anagleq IalE 69 |

A. 997 905186
B. 95 €[5l

C. 118 QI

D. g1l

Choose the correct answer from the options given below:

LB, DyEA
2.4, C. D, B
3.C,B,A,D

4.D,A,B,C

Question Number : 97 Question Id : 3421237185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR aIn ZRINER AClIRIS QT F69I8 201 L°ARRYLT I6IE 6mel |

A. 997 290188
B. 959 (99N

c. shellg |1gl

D. g1

Choose the correct answer from the options given below:

1.B,D,C,A
2.A.C,D,B
3.C.BAD

4.D,A,B,C

Question Number : 98 Question Id : 3421237186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



df QALCUNT T6YI8 dFRagLq dalda RIRIgAl dR12 |

A. T2 99
B. €°'gMd
C. dR1gl

D. SIRAIRS

Choose the correct answer from the options given below:

foae 0 B By

b3

D.AC B

sl

B

4.C,D,B.A

Question Number : 98 Question Id : 3421237186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4o ALLAUAT 6918 dDRTYG G dRSIQ QIR DRI |

A. 99219 99
B. dI'gmd
C. dms

D. Q@I

Choose the correct answer from the options given below:

1A, C,B,D

[

D.ACB

[

=B B

4.C,D,B.A

Question Number : 99 Question Id : 3421237187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



geIel god, SI5rali, AR FI9EIR, Yno 9°QIdE - 94 96169 6496a0 aRg 12 |

A 64lIQUY gelia )
B. 09lgl2l 44l Q14
C. 2099 g

D. 219 ¢g

Choose the correct answer from the options given below:

1. A, D,B,C
2.B,C.AD
3.CABD

4.D,B.A,C

Question Number : 99 Question Id : 3421237187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 98, SIEFRIa, 29 I9IE, i 39198 - 98 9060 699599 955 9812 |

A, 64IGI9Y geliol 4
B. @olgle]l 44l Q1
C. 20E9 fg

D. Q10a ¢ig

Choose the correct answer from the options given below:

Jofe BB C
2.B,C,A;D
3.C.ABD

4.D,B,A,C

Question Number : 100 Question Id : 3421237188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QgY, 19181, 609I621Y, L9 LU QIR - 48 AGTEI6R HE6R 19R YEID emaialia e
dwld |

A. 984416 flg
B. 981694 €4
C. 960 1915
D. 65I€1G12l £1218

Choose the correct answer from the options given below:

1.C,A,D,B
2.A,D,C,B
3.B,DA,C
4.D,B,C,A

Question Number : 100 Question Id : 3421237188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgY, I9I8), 60 TI62Y, €LY ALY ARG - I8 AGFEIED AE6R 19R YLID emaIRElIa
dwle |

A. 98gdIe A
B. 981694 €4
C. 9696 ¢1913
D. 691 1913

Choose the correct answer from the options given below:
.C,LA,D,B
2.A.D,C,B
3.B.DA.C
4.D,B,C,A

Question Number : 101 Question Id : 3421237189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6URE FING1, HEALER 6EIR AGHE, 2GFIRARIR F6QIL, 2PaI B AGH F6Qs] - 16 G169
699699 6RSaT 4RI |

A. 98I Qlel
B. 16916 QI

C. 9698 71815
D. §161€19G Q14

Choose the correct answer from the options given below:
I.C,D,A,B
2D:B.CA
3.B,AD.C
4.A,C,B,D

Question Number : 101 Question Id : 3421237189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6UIRG BIIG, YECER 6EIR AGHE, 2GFIARIR FEAL, 2RI B AGH F6Q5] - I& §EI69
699692 6RGAG IR |

A QBREIRN QIS
B. £16916 Q1<

C. 969 €lalg
D. /1916158 QI

Choose the correct answer from the options given below:
I.C,D,AB
2.D,B.C,A
3.B,AD,C
4A.C.B.D

Question Number : 102 Question Id : 3421237190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gan ql19g, A92, AREACIR 96 6 A2UIRY IGAIPR! 98° R19add 4e°d g9996aa ¢
AQI6R JIefae Q16 2aln 6mS |

A. 98IFIE] 6962
B. €Il SI9E°E
C. 908 AIdgIe!

D. 9a9GE QI

Choose the correct answer from the options given below:

1.D,A,B,C
2.A,D,C,B
3.B,CAD
4.C,D,AB

Question Number : 102 Question Id : 3421237190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gan cl19g, 892, 2RGRCIR 95 8 A2UIRY 2I6AIFE! 98° f19ade 4e°d g9996aa ¢l
AQKI6R JIeRaa Q19 9aln 6mG |

A. 09IF18 696891
B. ClIAIRIQ 19L°8
C. 9998 AIdge!

D. DR0EE QI

Choose the correct answer from the options given below:

1.D,A,B,C
3 L DES
3.B,C,A,D
4.C,D,AB

Question Number : 103 Question Id : 3421237191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WERGHIN UTala, F9E (19, 9910 906 6 qI6a 55 62 - @ 2904160 8¢ 2199 969
4fall 6l

A. 0068

B. G909

. ¢Jel

D. 281510, <JelUesi

Choose the correct answer from the options given below:
1.A,B,C,D
2.B,C,D,A
3.C,A.D.B

4.B,A,D,C

Question Number : 103 Question Id : 3421237191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GERGEI0 UERIA, NESG €19, 9910 906 A6 69 52l - 68 96160 8¢ 2199 969
<ol 6l

A. 9068

B. G019

C. glel

D. 2815 Jelues

Choose the correct answer from the options given below:
.AB,C,D
2.B,C,D,A
3.C.ADB
4.B,A,D.C

Question Number : 104 Question Id : 3421237192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g6 Q 691521, GEI9 GRIEL, GlR 65961 6 651G2IR S Clisald - 48 G169 9eI66 648
EIEIBY AELUCQ F4C 6E%, 6996q 4RI |

A, §H09919

B. 449 91906191
. RISaIQ

D. 910716 9554169

Choose the correct answer from the options given below:
1.A,D,B,C
2.C,D,A,B
3.B.CAD
4.D,C,B,A

Question Number : 104 Question Id : 3421237192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G615 © 691981, GFIR RAI4, GIR 665161 6 65152IR Gidall FI6aTd - 17 §6169 FI6R 609
FISeY AIR6Yeq 986 636, 69995 J41 |

A. 5509919

B. 497 519961 QI
C. RI1QIQ

D. €076 96GI8Q

Choose the correct answer from the options given below:
1.A,D,B,C
2.C,D,AB
3.B,C,AD
4.D.C,B,A

Question Number : 105 Question Id : 3421237193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T2l itieg, 622 96, 60. 2169, 0ld S166I - 7 §E169 62FIRRR FIRYS 999989
1|

A. Folklore : An Introduction
B. Performance as Text

C. The Handbook of Folklore
D. Motif Index of Folk Literature

Choose the correct answer from the options given below:

.B.A,C,D
2.A,C,D,B
3B G A B

4.B,D,C,A

Question Number : 105 Question Id : 3421237193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%0l 20199, 6212 941, 6. 9165, A916 SI661R - IF 59169 69019 RS FIRYE 9979GT
a2l

A. Folklore : An Introduction

B. Performance as Text

C. The Handbook of Folklore

D. Motif Index of Folk Literature

Choose the correct answer from the options given below:

1.B,A,C,D
A CDB
3.D,C,A,B

4.B,D,C,A

Question Number : 106 Question Id : 3421237194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6R99Ea 29UYS B3 604G §IF 26T

A. 2%l
B. &9
C. dml¢l
D. Bxell

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aemAGBGD
3.699mW BB C

4. 699mABC

Question Number : 106 Question Id : 3421237194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6RAYEa 29UYS BT 604G €IF 26T

A. 2%l
B. &9
C. dm¢l
D. B@ell

Choose the correct answer from the options given below:

1.699m AGB

(]

6R9mAGD
3.6 BB C

4. 6990 ABC

Question Number : 107 Question Id : 3421237195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘099 F6919° g9Q 9194 AVIYS 9T A96Ig 5FS a9 |

A. BIQU9G
B. 99I6F 64I6!

C. gRIRGI

D. $8RIY S68IQL

Choose the correct answer from the options given below:

1.6a99m AGB

6a9mBGD

3

3.699mAGBC

4. 699" BB C

Question Number : 107 Question Id : 3421237195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘999 F6919° g9 9194 RVIYD 9T A96Ig 7S @ |

A. FIRUSST
B. 99/ 62115

C. SRR

D. 58RISY S6RIGHL

Choose the correct answer from the options given below:

1.699m AGB

(]

699w BGBD
3.669mAGBC

4. 699w BB C

Question Number : 108 Question Id : 3421237196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



659 07 RIFY6Q FIEG 6 FBAIR FIEH 9F Q2R 2¢lal ITRBE 99 F1E 2

A. J0¢Im]
B. agm%!
C. 6g¢IemIo G
D. 910" @&l9%1

Choose the correct answer from the options given below:

.6aemBBD
2.6990 ABGB
3.689m BB C

4.689R CBD
Question Number : 108 Question Id : 3421237196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

679 905 FIFY60 Flea 6 GIFRIR C6R 98 9899 46l IRRAS 84 qIE 2

A. 90¢Im!
B. @5
C. 6g¢IEmIo G
D. 919 D@96

Choose the correct answer from the options given below:

.6@emBGD
2.689m AGB
3.689m BB C

4.669m CBD

Question Number : 109 Question Id : 3421237197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



4@ IoIRE 9UQ BR6T 696 9T 98 9T 2

A. UGS

B. ¢Rl@4l

C. QIQ9ee|
D. 2Plealam

Choose the correct answer from the options given below:

1.6a99m AGB

6aemBGC

3

3.699mAGBC

4. 699 AGBD

Question Number : 109 Question Id : 3421237197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4@ IoIRG dAUQ BRET 656 9T I8 TS 2

A. IDISE

B. GRIQS

C. QlReeaNel
D. 226aIamn

Choose the correct answer from the options given below:

1.699m AGB

(]

6aem BB C
3.669mAGBC

4. 699 ABD

Question Number : 110 Question Id : 3421237198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QLN QUG N9 €9 64 B¢l SFUATRIA
dQl 2ERINE 9910 gRI6S a9 %3 I
6969216 IRIFA Y 96T 676 9 2RI 9% aQldInS?

A. ollfl
B. 9%
C. 5le
D. Q8¢

Choose the correct answer from the options given below:

1.699m AGB

6@em BB C

[

3.699mCBGD

4. 6990 AGBD

Question Number : 110 Question Id : 3421237198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QLN QUG FINQ €9 64 B¢l AR
dQl 2ERINE Q9I0 4WIET a9 SE I
6569916 IRIF0 I 965 676 9 I 9% aaldIne?

A, Qllfl

B. 9%
C. 99
D. Q8¢

Choose the correct answer from the options given below:

1.6aemAGB

(i

6@em BB C

6@emCBD

(5]

4. 6990 AGBD



Question Number : 111 Question Id : 3421237199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3gal2l a0 689 Q% 16RI9 AL 2em?

A. QFR 99l
B. 484 9elIFID
C. 297 dIE6Y
D. 4919

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aam AGBC
3.699WBGBD

4. 699" BB C

Question Number : 111 Question Id : 3421237199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

39012 99 69Q Q% A6 AL 2em?

A. QR 99l
B. 964 €SI
C. Q9R ATGY
D. gQ1€l

Choose the correct answer from the options given below:

1.699m AGB

(]

6RemABC
3.669wBGBD

4. 699w BB C

Question Number : 112 Question Id : 3421237200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



d9a 65IFIR 6AUCNRF 6567165 689 901G g4l 2SI BI16e 856?

A. Q8RS

B. €I85 UGP

C. 99191¢] 68la1

D. dogq 6dledu6s)

Choose the correct answer from the options given below:

1.6990 AGB
2.699m BB C
3.699mCBD

4. 6990 ABD

Question Number : 112 Question Id : 3421237200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d9@ 69919 6UCNIEa 6590160 69 Q@G gél Aaeldy Ques @Ge?

A QEYRIQ

B. §lI6GSYGP

C. 4o1I]R 69a1

D. do8g 69leY6SNR]

Choose the correct answer from the options given below:

1.6990 AGB
2.689mM BB C
3.66emCBD

46890 ABD

Question Number : 113 Question Id : 3421237201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



609 9N 6MSaw 2A9ad QUYId ER?

A. 6399 996 QIg

B. RIRG1 996 Q18991
C. 92RI §AIGN S
D. 65l9IR SRQ Q1<

Choose the correct answer from the options given below:

1.6a99m AGB

6Rem AGBC

3

3.699mW BB C

4. 699mCBD

Question Number : 113 Question Id : 3421237201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

699 97 6melaa 2add aueud 988

A. 6399 994 Qg

B. @IRQ1 994 QI8igIL]
C. 987! 9 AT
D. 65l€lIR SRR GId

Choose the correct answer from the options given below:

1.699m AGB

(]

6RemABC
3.6 BB C

4.699mCBD

Question Number : 114 Question Id : 3421237202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



696 e 0L6GA fRE Q0E alg?

A €°L¢]
B. %64l
C. ¢l

D. €%

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aam AGBC
3.699WBGBD

4. 699 AGBD

Question Number : 114 Question Id : 3421237202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

626 Jea 096GA eRw QTS aF?

A €°L¢]
B. %64l
C. &gy

D. 991

Choose the correct answer from the options given below:

1.699m AGB

(]

6RemABC
3.669wBGBD

4. 699 ABD

Question Number : 115 Question Id : 3421237203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Q9% 2°6161 958! Hollowman 6 The Wasteland AIMID65 656! 906 642 9991 959 2

A. 9961

B. 26019% <19
C. dR9%Iol

D. GIRGE

Choose the correct answer from the options given below:

.69 AGB
2.699R BB C
36999 ABD

4.6999BGD
Question Number : 115 Question Id : 3421237203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Ge8 50161 856! Hollowman 8 The Wasteland ZIRISER 625! 906 642 9991 956 ?

A 8991R

B, 26599 0I¢
C. 99619

D. §IRYQS

Choose the correct answer from the options given below:

.69 AGB
2.6999BBC
36899 ABD

16999 BBD

Question Number : 116 Question Id : 3421237204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



696 QY 996] °ane 64lRIgY IR Fgaa?

A. ST
B. Slelg@
C. gaIaR
D. @RaL0l

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aemBGC
3.699mCBD

4. 699 AGBD

Question Number : 116 Question Id : 3421237204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

626 QY 996] d°ane 64IRIgY IR Fgaa?

A. SUTR
B. Glulg@
C. g
D. fR¢gal

Choose the correct answer from the options given below:

1.699m AGB

(]

6aem BB C
3.669mCBD

4. 699 ABD

Question Number : 117 Question Id : 3421237205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



696 90T §18g 2IPIHIE GGISON AEYI-RRs QUGUIL?

A. QISR g2Iel A9
B. 999% G

C. 2G4 KSR 16l
D. 6069 MR

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aemBGC
3.699WBGBD

4. 699mABC

Question Number : 117 Question Id : 3421237205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

696 §RT 4Isg 2IPIHIT GISaN ALdY-Bas QUaUId?

A. D119 gelel aIQ
B. 9999 0%

C. 294 KEIeD SIG
D. 6%6% €IRICED

Choose the correct answer from the options given below:

1.699m AGB

(]

6aem BB C
3.669wBGBD

4. 6990 ABC

Question Number : 118 Question Id : 3421237206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



609 9T €1919I8 MRCE dIg@® QORI 69°

A. 6619CIRS
B. QIFIS QU
C. 998

D. 25l B 2Igl

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aam AGBC
3.699mCBD

4. 699" BBD

Question Number : 118 Question Id : 3421237206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6aQ 9T F1919I8 F1RCE dig@ QOR! 697

A. 6518EIRG
B. GlEIL QI
C. 99gQs

D. Gl B 2ligl

Choose the correct answer from the options given below:

1.699m AGB

(]

6RemABC
3.669mCBD

4. 699" BGBD

Question Number : 119 Question Id : 3421237207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



696 QY 9L6l QUEe QElsl RILIEN?

A. 9% GOIe il
B. QUe\a 9 QISILIG1
C. eGS0

D. QEIR 66196 ClIE

Choose the correct answer from the options given below:

1.6a99m AGB

3

6aam AGBC
3.699WBGBD

4. 699" BB C

Question Number : 119 Question Id : 3421237207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

626 Q@Y 966l QU Lelsl algléin?

A. 98 GOS8 2SI
B. QUoia Q QISILIG1
C. MEe50

D. gEIR 66199 €Il

Choose the correct answer from the options given below:

1.699m AGB

(]

6RemABC
3.669wBGBD

4. 699w BB C

Question Number : 120 Question Id : 3421237208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



609 IRIER! 978 498 K9 FI0I 956?

A. 690499
B. IFIgQ 2lg]eel
C. 9Ig 9°2I9
D. QR6S6ES

Choose the correct answer from the options given below:

1.6a99m AGB

6Rem AGBC

3

3.669mABGD

4. 699" BB C

Question Number : 120 Question Id : 3421237208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

699 IRIFE! Jua dIeg aow 9191 A5e?

A. 658419
B. IR 2ligIF2ll
C. 9Ig 2L
D. @R6S624

Choose the correct answer from the options given below:

1.699m AGB

(]

6RemABC
3.669mAGBGD

4. 699w BB C

Question Number : 121 Question Id : 3421237209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



696 Q159 Jen6a 619 6 JRULE FRIER 29l 6géN Qeqlda 56 YRTRS F2InR?

A. PPI50)
B. Q3¢5

c. o909
D. 329

Choose the correct answer from the options given below:

.699R AGB
2,689 BB C
3.699R CBD

46999 B6BD
Question Number : 121 Question Id : 3421237209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
696 G99 Jen6a g¢la 6 JBALE 6 291 65l gea 56 gRTRe 6910&?

A, P9I
B. Q@¢IIg

c. 9998
D. G99

Choose the correct answer from the options given below:

[.699R AGB
2.699R BB C
3.669RCBD

4.699RBGBD

Question Number : 122 Question Id : 3421237210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



MG TR 26RIFE 9T AN 696 9RER 584 2RIy

A. Tl

B. QU@

C. gI98e 2egl
D. 59

Choose the correct answer from the options given below:

1.6@em AGBGD

6aemBGC

3

3.699mCBD

4. 699" BBD

Question Number : 122 Question Id : 3421237210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2INAE TSN AI6RIGE 9T dIN 659 $RTR 088 AGaldy?

A. Tl

B. QY8

C. 9156a 29gl
D. 99

Choose the correct answer from the options given below:

1.6@9mAGBGD

(]

6aem BB C
3.669mCBD

4. 699" BGBD

Question Number : 123 Question Id : 3421237211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘ROGIM SINGY” J24 956 699 §R0d 99 G567

A. QDA Q16941
B. @9'd

C. ARRE] 698

D. @R6A0G

Choose the correct answer from the options given below:

1.6@em BB C

3

699 mAGB
3.669mABGD

4. 699" BBD

Question Number : 123 Question Id : 3421237211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘RGN SRS 94 956 699 §R0d 97 G562

A. QRS 4leaa?]
B. @99

C. ADMAC] 698

D. @6moa

Choose the correct answer from the options given below:

1.6@9m BB C

(]

. 6R9mAGEB
3.669mAGBGD

4. 699" BGBD

Question Number : 124 Question Id : 3421237212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘ggI9° Q199 690 696 YRR YoF ACASIILR 94 A5G FR8E?

A. 65618 99119 QId
B. §8g 96119 92

C. S9FLIN SIFGH!
D. §859¢l 696231

Choose the correct answer from the options given below:

1.699R AGD
2.699m AGBC
3.699@DBB

46090 BB C

Question Number : 124 Question Id : 3421237212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘dele” @19'g 69'm 6&?@@6‘1@6] oG 2SR Y49 A571 2982

A. 62618 €10 QI
B. §l189 9€lIR 92l

C. F9R9I91 SIGSP
D. 98996 69684l

Choose the correct answer from the options given below:

1.699R AGD
2.609m AGBC
3.609@DBB

4.6990 BB C

Question Number : 125 Question Id : 3421237213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



68l B 905 FEHILIN QI 654 60 LITEN TS FRRT?

A. 6RIRD 6996991 6T0a
B. SlI1E:

C. 999918 6359

D. 6nlaq

Choose the correct answer from the options given below:

1.6@em ABC

3

6a9mBGD
3.699mCBD

4. 699 AGB

Question Number : 125 Question Id : 3421237213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B8l 6 909 FHRLIN QIF 699 676 WIER T FABG?

A. 6RIRR 6096991 6Tea
B. SlI1%:

C. 99918 6359

D. 6mlaa

Choose the correct answer from the options given below:

1.6@9m ABC

(]

699w BGBD
3.669mCBD

4. 6990 AGRE

Question Number : 126 Question Id : 3421237214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

Choose the correct answer from the options given below:

]

(]

[

e

Question Number : 126 Question Id : 3421237214 Question Type : MCQ Option Shuffling : No

‘@ Dl ‘o 9¢
A |eRal I |aieg@e
B. |¢9e I [get
C. |9lg 1L | 2I9S1LL
D. |64 V. [gleg

. A-1. B-IV, C-I1I1, D-II

AL B-1, C-IL, D-IV

. A-IV, B-11, C-III, D-1

. A-IL B-1V, C-1, D-IIT

Correct Marks : 2 Wrong Marks : 0

‘@99 996 9" 99 g 617 9 |

Choose the correct answer from the options given below:

]

[

(5]

+

‘@ 9l ‘o 99
A QR L |gIede
B. |¢iBe IL |gal
C. |99 . | 2leelel
D. |6€9 V. | QIeg

. A-1, B-1V, C-III, D-II

. A-IIL B-1, C-IL D-1IV

. A-IV, B-11, C-111, D-I

CA-IL B-TV, C-1, D-IIT




Question Number : 127 Question Id : 3421237215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 99e 6" 99 @ 691 A |

‘Q° ¢l ‘g’ 9¢1
A |2uady- oduea| 1 |geerieg Qles
B |oduca G6aea | 1. |agig 6alee og
c. |eduae 1L | SIRUYS Gt
D. |edusnd IV. | GeaIsio SIS

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV

[

.A-II, B-1, C-IV, D-ITI

(5]

. A-IIT, B-II, C-IV, D-1

4. A-IV, B-1. C-II, D-III

Question Number : 127 Question Id : 3421237215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘Q° Qe ‘4> ¢

plleudy - edduea| 1 |g6ereg Q9T
oduca 35ae | 1. |ag1g 6Aleq a9
oduiag L | QIQIEs el
odyien@ IV. | QyedIsial slig

ololw|»

Choose the correct answer from the options given below:

1. A-1, B-IIL, C-II, D-IV

(]

. A-II, B-1, C-IV, D-III

[

- A-IIT, B-11, C-IV, D-1
4. A-IV, B-1, C-11, D-III

Question Number : 128 Question Id : 3421237216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@99 996 9" 99 g 617 9 |

‘@ 96 ‘4 99
A |o@q glRIen! L |@1eqeQld
B. |Q€9el II. | Q6UgaEH
C. |49m QQif)e RE | 1L [2Ragy g9 gIq
D. |99@6q1e IV. |9gies @Ggdy 9l

Choose the correct answer from the options given below:

1. A-I. B-IV, C-III, D-1I

(g

. A-II, B-TII. C-IV, D-I

3. A-1IV, B-1, C-II, D-11

4. A-IIL B-11, C-I, D-IV



Question Number : 128 Question Id : 3421237216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 99e 6" 99 @ 691 A |

‘@ 46 ‘4 99
A |o@q glRIen! L |@1eqeQld
B. |Q€9el II. | Q6UgaEH
C. |49m QQif)e RE | 1L [2Ragy g9 gIq
D. |99@6q1e IV. |9gies @Ggdy 9l

Choose the correct answer from the options given below:

1. A-I. B-IV, C-III, D-1I

(g

. A-II, B-TII. C-IV, D-I
3. A-IV, B-1, C-III, D-TI

4. A-IIL, B-II, C-1, D-IV

Question Number : 129 Question Id : 3421237217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘a del ‘o <4e
Qe 61D L |ohisGic
GRILIGIR 6RIaR | I | 966590 Q%
REFISA QIR | 11 | 2R3 Q19
A6QIeaN 6QIaR | IV. [ S6RISE Q19

ololw|»

Choose the correct answer from the options given below:

1. A-IV, B-1IL, C-1, D-1I

3

. A-L, B-IL, C-1IV, D-1II

sl

- A-IILL B-1V, C-1, D-II

4+

. A-II, B-1, C-III, D-IV

Question Number : 129 Question Id : 3421237217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

‘@ 9el ‘8 9gl

Qle 6RIam I |6mIagil
QAT 6QIRR | I [R96599 W&
RIERICA 6RIQR | I | eRale GId
AeRIea 6RIRm | IV. | Semice Q19

olo|w|s

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-I, D-II

(]

. A-L, B-IL, C-1IV, D-III

(%]

. A-IIL B-1V, C-1, D-II

s

. A-II, B-1, C-I11, D-IV



Question Number : 130 Question Id : 3421237218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9l 4 99l
A |QUREREl I |6994012 aglae
B. |6R&e I |98 UReqUL
C. |[egygqe Il | agedies &g
D. |AIQIa IV. [@91961 998 QISgIE

Choose the correct answer from the options given below:

1. A-1, B-IlI, C-IV, D-I

3

. A-IL, B-1IV, C-1, D-III

sl

. A-TV, B-1. C-III, D-II

4. A-IIL B-11, C-I, D-IV

Question Number : 130 Question Id : 3421237218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9l 4 99l
A |QUREREl I |6994012 aglae
B. |6R&e I |98 UReqUL
C. |9auege I | A9671ee Fid
D. |AIQIa IV. [@91961 998 QISgIE

Choose the correct answer from the options given below:

1. A-1, B-IlI, C-IV, D-I

3

. A-IL, B-1IV, C-1, D-III

sl

. A-IV, B-1, C-III, D-II

4. A-IIL B-11, C-I, D-IV

Question Number : 131 Question Id : 3421237219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

RT3 ‘6" ded
el L | 956slcltl @&
5 0] PN I | W89l feldie

Jalatayiagila 1L | GG A
geIoga 2R | 1v. | ssleiesud fg

olo|w|s

Choose the correct answer from the options given below:

1. A-IV, B-1, C-III, D-II

(]

.A-1, B-III, C-1IV, D-II

(%]

. A-IILL B-1, C-1IV, D-11

s

. A-II, B-IV, C-I, D-III



Question Number : 131 Question Id : 3421237219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘Qr 2l ‘o 99
A 294l I |5g688a 68
B. |9g19¢ I | Q9IS OgIalg
C. (699912 88 IIL | QRIS Aig
D. |geiade dwsid| V. |eslgieais fgl

Choose the correct answer from the options given below:

1. A-IV, B-1, C-III, D-1I

3

CA-L B-III, C-1IV, D-II

sl

- A-IIL B-1, C-IV, D-II

4+

. A-I1, B-IV, C-I, D-IIT

Question Number : 132 Question Id : 3421237220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘o Dl 8> 961
alariaiay I |geume 9@l
ges dio I |@oeg &g

QaY gaer I |§MIE19La QIR
dig1e age | IV |6CIERI6R1EE 69QITT

ololw|»

Choose the correct answer from the options given below:

1. A-IL. B-1, C-III, D-IV

3

.A-IV, B-1II, C-1, D-1I

sl

. A-1, B-IV, C-II, D-III

4+

. A-IIT, B-1, C-IV, D-II

Question Number : 132 Question Id : 3421237220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

‘@ 9l ‘8> D¢l
gegIenm I |F54Bd 9@l
ges dio I |R9eg &°g

GRugas | I |euegen sIegs
giste age | IV |eaI8aiesIes 699105

olo|w|s

Choose the correct answer from the options given below:

1. A-I1, B-1, C-III, D-IV

(]

.A-TV, B-1IL, C-1, D-T1

3. A-L. B-1V, C-11. D-III

s

. A-III, B-1, C-IV, D-1I



Question Number : 133 Question Id : 3421237221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 26 ‘9> 961
A |enesal L (@€ 21094
B |qiagiger | I [agaimt
C. [ER 9agia 1L | @QIEa
D. |agal v | eueligg

Choose the correct answer from the options given below:

]

3

sl

4+

. A-II, B-TII, C-1IV, D-1

. A-I, B-IL, C-1II, D-1IV

. A-IV, B-III, C-1, D-II

.AJIL B-L, C-TI, D-IV

Question Number : 133 Question Id : 3421237221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘G el ‘o> 2¢1
falalolal L (a4 21099
qiEaciestl | I |ageim
Srasgie | L |Ge@e
agell Iv. | suelgai

ololw|»

Choose the correct answer from the options given below:

1. A-I1, B-TII, C-IV, D-1I

3

. A-I, B-IL, C-1II, D-1IV

sl

. A-IV, B-III, C-1, D-II

4+

. A-IT1, B-1, C-I1, D-IV

Question Number : 134 Question Id : 3421237222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

‘@ 9e1 (2194 9018) ‘¢’ 9e (]F)
651G gl L |geuds agig
B. |6Talch 6wlm | I |6diwigy Ia Fig)

C. 269y Qld | III |QU6RE R64IG 9|
D. |49698 6641 | IV. |80 gdie 9Id

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-1IV

(]

. A-IL B-I1, C-L D-IV

(%]

. A-TV, B-1IL, C-1, D-T1

s

. A-II, B-1, C-IV, D-III



Question Number : 134 Question Id : 3421237222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9¢1 (R19Y 6918) ‘o’ 261 (@F)

A |6QY6 84 I |goddle ag1g

B. [6Tqugn eum | I. |edimucy g Fig
C. [2699¥Qld | III |QU6RE F64I5 A4
D. [gasee6aql | IV [eq gae <1g

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV

3

. A-IIL B-II, C-I, D-IV

sl

. A-IV, B-III, C-1, D-II

4+

. A-II, B-1, C-IV, D-III

Question Number : 135 Question Id : 3421237223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘@ 4 ‘o 9¢)
A lAQEase | I | @996 gl
B. [a8ieql I | g9e fg
C. |8c Qe | IL | G641 904 Q1d
D. |9aI Q& IV. | FR1DIg SR8 QIg

Choose the correct answer from the options given below:

1. A-IV, B-1IL, C-II, D-I

3

. A-L, B-IL, C-1IV, D-1II

sl

. A-I1, B-1V, C-III, D-1

4+

. A-IIT, B-1, C-IV, D-II

Question Number : 135 Question Id : 3421237223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

‘@ 9f ‘o 9¢

A lAREass | I | @998 agig

B |f&gql I |99 g4die g

C. |GEcola | I |@6dIan oad <1
D. |97l @& IV. | AR1DIg SR8 aIg

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I

(]

. A-L, B-IL, C-1IV, D-III

(%]

. A-1IL, B-1IV, C-1I1, D-1

s

. A-III, B-1, C-IV, D-1I



Question Number : 136 Question Id : 3421237224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9l ‘M 9¢
A |65lq I [e9&ga
B. |g4l I |Q88Ie6
C. |aggQe L. (§9erl
D |e@ IV. [6g1810 @5696!

Choose the correct answer from the options given below:

1. A-I, B-1I, C-IV, D-III

3

. A-II, B-1II, C-1IV, D-1

sl

. A-IV, B-III, C-1, D-II

4+

.AJIL B-L, C-TI, D-IV

Question Number : 136 Question Id : 3421237224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9l ‘M 9¢
A |GG I [e9&ga
B. |g4l I |Q88Ie6
C. |aggQe L. (§9erl
D |e@ IV. [6g1810 @5696!

Choose the correct answer from the options given below:

1. A-I. B-II, C-IV, D-III

3

. A-II, B-1II, C-1IV, D-1

sl

. A-IV, B-III, C-1, D-II

4+

. A-IT1, B-1, C-I1, D-IV

Question Number : 137 Question Id : 3421237225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 q 661 QD |

‘@ el “¥° 9el
A |gaqee I |eslgieausl Figl

B. |66 QLI I |9699% a6l
C. |grgiaaeel L. |9&SRIGN Q18

D. |26 SISIS12 654 6 5§60 661 QIR | IV. | AIR1904 deRI0S

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I

(]

. A-L, B-IL, C-1IV, D-III

(%]

. A-IIL B-1V, C-1, D-II

s

. A-II, B-1, C-I11, D-IV



Question Number : 137 Question Id : 3421237225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9l ‘99
A QAR oq I |equgiesns fgl
B. |69l QILlan I |26999 A9l
C. |grigiaaesel IIL. |g&SRIoN Q8
D. |28 491919 624l 6 8960 651 99| IV. | 2191996 910

Choose the correct answer from the options given below:

1. A-IV, B-1IL, C-II, D-I

3

. A-L, B-IL, C-1IV, D-1II

sl

- A-IILL B-1V, C-1, D-II

4+

. A-II, B-1, C-III, D-IV

Question Number : 138 Question Id : 3421237226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘G el ‘8" el
A |C6QIGE GId I |aea

B. |Q@e fg I |9§

C. (G998 I I |gig 9g1dE
D. | Q668 gaIe aifighat | IV. [21emE

Choose the correct answer from the options given below:

1. A-1IV, B-1I, C-lII, D-1

3

. A-IIL B-1, C-IL, D-IV

sl

. A-II, B-III, C-1IV, D-I

4. A-1, B-IV. C-II. D-III

Question Number : 138 Question Id : 3421237226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

‘Q 9l ‘8> 9¢l
A |F6QIGE I I |2e61

B. | 3@ dg I |9§

C. |99a% 914 1L |gle gRIge
D. |Q668 gaIe aifigat | IV. [219@E

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I

(]

. A-IIL B-1, C-IL, D-IV

(%]

. A-I1, B-TII, C-IV, D-1

4. A-1, B-1V, C-II, D-III



Question Number : 139 Question Id : 3421237227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9 ‘H° 9
A |eqagald 8m| I |Faminine Mystique
B. |G glaeq I1. | Thinking about women
C. |60 9RAE | I |Sexual Politics
D. |69% fRg IV. | The Subjection of Women

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV, D-III
2. A1, B-II, C-1II, D-IV
3. A-IIL, B-IV, C-II, D-I

4. A-IV, B-1. C-II, D-ITI

Question Number : 139 Question Id : 3421237227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9 ‘H° 9
A |eqagald 8m| I |Faminine Mystique
B. |G glaeq II. | Thinking about women
C. |60 9RAE | I |Sexual Politics
D. |69% fRg IV. | The Subjection of Women

Choose the correct answer from the options given below:

1. A-IL. B-1, C-IV, D-1II

3

. A-I, B-IL, C-1II, D-1IV

sl

- A-IILL B-1V, C-I1, D-I

4+

. A-IV, B-1, C-II, D-III

Question Number : 140 Question Id : 3421237228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9H Y6 6" 99 @ 661 QA |

‘@ Dl ‘4 91
A |R=lead I |QleRgs
B. |qyalg I |290%
C |aggisl 1L | 6RIGICE
D. |69d2l qIg V. | GaaRl

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

(]

. A-IIL B-1V, C-11, D-1

(%]

. A-II, B-TII, C-1, D-IV

s

. A-1, B-I1, C-IV, D-1I



Question Number : 140 Question Id : 3421237228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘@ 9 Y6 6 99 @ 661 QD |

‘@ 9l ‘4 9
A | meleald L |gI6Rg9
B. |gyalg I |9odg
C. [Aggig IIL. | 6QIQIYS
D. |6@d2l qIg V. |9l

Choose the correct answer from the options given below:
1. A-IV, B-1, C-II, D-III
2. A-IITL, B-IV, C-11, D-I
3. A-IL, B-IL, C-1, D-IV

4. A-I, B-II, C-1IV, D-II

Sub-Section Number : 2
Sub-Section Id : 342123286
Question Shuffling Allowed : No

Question Id : 3421237229 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



G156 S50 Said SR TEUIE 6 298 AIRGIER 2R FIRISR 698G 689 | Aae 556
R0 48 (191069 AIRIRE | 48 ARIZIS QR6A G5en 9AS FEAS! (l6A 95! gRRIG
62I02R | 2969 S90I6 199R% 260Nl FRIRGR I9S oY 285! 1§ 2608l &
gieninl F267 I FGRS 696m 909 YRGS SI958 T45R 659 | GoI6R 919 2l
QelirRel (63 48 467181 Q4R A GYRR | Sigld 6§ A6asIee 8 8 <8
RE6EIIR MIRIEA SRS ALER | TRER I8 298 Seol ARS8 268 gIBRdea A4
QeI969 56158 1756 62928 | 6419 GR I8 Salga 8a¢ Qe | 48063 ARSIR
g9 99° S671819 9661 TalS | FAFA AIFS §Y 60656967 61763 ARINH 69,
G119 PFY6LYT 61590, % RelArl g9 98° 6U6R676R BIRIR 268 9@ 94l 69R6R
A5R60 | 6997 FGHIA §6%, 9719 G19 G965 98 §919-619 9% | 67818 929 aa%
AR S9RRIIR 28I FIFFIER BIRIR SINGS AaK | 48 ARTIS6a 62 56 &g
ABaTEa | g 9 99 6200 210 68 ST 5 P PR GY | @4 679 & 24
QgR9I63 YR GEEaIN aaIs derel Cinl 518 9deld | dIE 99 6QIAIReIS; agls
ge18I6e 62 G0 B! FI999 519 AYFI0R R | 969 SINGT Y 95 Asal
605 8 @ 263469 55 4R A% GIR BA9R 19694 Ge1AI6R F1F 9Tel |

Sub questions

Question Number : 141 Question Id : 3421237230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2llc] YIS 2D LG QIFID ARYGA DEF?

1. 299 QYo%

(]

Gg65181
3. ASEIRG 65181

4. QOO QAIG!

Question Number : 142 Question Id : 3421237231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2R FIL161E 699K QAR 68452

1. g Falslole 8¢

[

. QF@oe0 §|5rml

0% 99189 JIode adte

L

4. 9916 6 292 QQIAG!



Question Number : 143 Question Id : 3421237232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

69615 2a8 d96 RISIAE 69 LEIG?

—a

AgaIn

[

. 6@6HlIomIm
3. 64I9aIR

4. 651Q9IR

Question Number : 144 Question Id : 3421237233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

69616 C1LIER MAIE?

. ROIPR YU

—=

[

s Rnlala
3. 94914
4. 91619 S

Question Number : 145 Question Id : 3421237234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROleD QEEPRIR AR RIS @6l

QBT JIEnIRI

—

£

 QET J1IenIm
3. 9gealda 2Ige

4. 2960 I°Qe GRIFR!

Question Id : 3421237229 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)



Question Label : Comprehension

qo154 55 Said Cial T51E 6 298 BQIRSIEH 2IFIA FIRISE 698G 689 | A8F 556
396 48 (191059 AIRIGE | 48 QRIS QR6A ASeR FAS JEAG! (6a 98! gRRIe
6TIR2R | BFI6R §90I6 I999% 260N FRIRGR YRS oY 2RGI I7 2608 6§
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Sub questions

Question Number : 141 Question Id : 3421237230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 3421237231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 3421237232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 3421237233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 3421237234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 342123287
Question Shuffling Allowed : No



Question Id : 3421237235 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421237236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421237237 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421237238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421237239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421237240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421237235 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421237236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421237237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421237238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gicedia 996! 299 98 6952
1. 96949 g 21 99 6810 Q&R 919l |
2. 966910 9°90q A" aULS! FIol |

3. Q09 J6Q4I9 6MIGR fm JEQIR AIPGER UG L6 AR 919U |

4. 969919 J69Y g9 96909 6991 QI |

Question Number : 149 Question Id : 3421237239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421237240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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